Rhodan Hydrate (HoCoN9SoO) Structure:
A2B2C2DE2 m(C72_15_2f 2f 2f £ 21-001
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Prototype CyHoN50OSy
AFLOW prototype label A2B2C2DE2_.mC72_15_2f 2f 2f f 2f-001
CCDC 1249311
Pearson symbol mC72
Space group number 15
Space group symbol C2/c

AFLOW prototype command aflow --proto=A2B2C2DE2_mC72_15_2f_2f_ 2f_f_ 2f-001

__params=a7b/a’7c/a)ﬂ,whyla 21,22,Y2, 22, X3, Y3, 23, L4, Y4, 24, L5, Y5, 25, L6, Y6, 26, L7,
Y7, 27,28,Y8, 28, L9, Y9, 29

Base-centered Monoclinic primitive vectors
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a3 = %afc = %by
a; = %afc + %by
ag = ccosfX+csinfz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = (x1 —y1) a1 + (z1 +y1) as + = (axy +cz1co8B) X+ by1 § + cz18in 5z (8f) CI
Z1as3
B = —(mi+wy)a—(r1—y1)a— = —(axl—&—c(zl—%)cosﬁ)ﬁ+by1y— (8f) CI
(21_%) as C(zl—%) sin 8z
Bs = —(z1—y)a—(r1+y1)a— = —(axi+czicosf)X—by1 ¥ —czsinfz (8f) CI
Z1 a3
B, = (x1 +y1) a1 + (z1 —y1) as + = (axl—i—c(zl —&—%) cosﬂ) X—bny+ (8f) CI
(21+3) a3 c(z143)sinBz
Bs = (x2 —y2) a1 + (2 + y2) a2 + = (axg + czacosB) X+ by2§ + czosin 5z (8f) CII
Z9 as
Be = —(z2+y)a—(xa—y2)az— = f(ax2+c(227%) cosﬂ) X+bys y — (8f) CII
1 1 . N
(22— 3) a3 c(z2— 3)sinfz
Br = —(z2—y)ar—(xa+y2)az— = —(ame+czecosf)X—bysy — czasinfz (8f) CII
Z9 asg
Bs = (zo+wy)ar+(mo—y)as+ = (axa +c (224 3) cos B) X —by2§ + (8f) cu
(22 +3) a3 c(z2+ 3)sinBz
By = (z3—y)ar+(zst+ys)a+ = (azz+cezcosf) X+bysy +czzsinfz (8f) HI
Z3as
Bio = —(wm+wy)ar—(z3—y3)az— = — (azs +c (23 — ) cos B) X+ bys § — (8f) HI
1 1 . N
z3—§) as c(z3—§)smﬁz
Biis = —(x3—ys)a;—(z3+ys)as— = —(axsz+czzcosf) X—bysy —czzsinfz (8f) HI
Z3 as
B, = (3 +ys3) a1 + (z3 — y3) as + = (axg +c (zd + %) cosﬁ) X —bysy + (8f) HI
(23 +3) a3 c(z3+3)sinBz
Bz = (x4 —ya) a1 + (x4 +y4) a2 + = (axy + czqcos8B) X+ bys§ + cz4sinfz (8f) HII
Z4 Q3
By = *($4+y4) ap — (934*114) as — = - (aI4+C(Z4* %) COSﬂ) X+bysy — (8f) HII
1 1 . N
(24— 3) a3 c(z4— 3)sinfB2
Bis = —(ma—wya)ar—(zatwys)az— = —(avg+czacosfB) X —bys§ —czasin Bz (8f) HII
Z4 ag
Big = (JJ4 + y4) a; + (334 — y4) as + = (ax4 +c (24 + %) cos B) X—by,y + (8f) HII
(24 +3) a3 c(za+ 3)sinfBz
Biz =  (wms—ys)ait(zs+ys)aa+ = (aws tezscosf) R+bys; ¥+ cassinf2 (8f) NI
Z5 as



Blg = 7(I5+y5) aj 7(£C5fy5) ags — = 7(QI5+C(2’57%) COSﬂ) )A(+by5yf (8f) NI

z5— 3) as c(z5— %) sinBz
Bigs = —(z5—ys)ar—(z5s+ys)aa— = —(axs+czscosf) X—bysy —czssinfz (8f) NI
Z5 asg
By = (5 +ys) a1 + (x5 — y5) az + = (aws +c (25 + 5) cos B) X —bys § + (8f) NI
(25“'%) as 6(25—1—%) sin 82
Ba:y = (x6 —ys) a1 + (w6 + ys) as + = (aze + czecos f) X+ by ¥ + czesin B2 (8f) N II
%6 a3
Bas = —(25+ys) a1 — (26 —ys) aa — = — (awg+c (26 — 3) cos B) X+ by § — (8f) NII
1 1 . ~
(26 — 3) a3 c(z6— %) sinBz
Bas = —(x6—ys)ar— (w6 +ys) aa— = —(axg+czgcosf) X—bygy — czsin Bz (8f) NII
%6 as
B2a = (w6 +ws) a1+ (w6 —ys) a2+ = (aze + ¢ (26 + 3) cos B) X — by § + (8f) N II
(zﬁ+%) az c(zﬁ—f—%) sin 32
Bos = (x7 —y7) a1 + (w7 +y7) ag + = (axy + czrcos B) X+ byr § + czrsin 5z (8f) Ol1
Z7 as
B = —(zr+yr)ar—(vr—yr)az— = —(a$7+0(2’7—%)C085) X+byry — (8f) 01
1 1 . A
27— %) ag c(zr — 3)sinfBz
B2 = —(zr—yr)ar—(zr+yr)az— = —(awv7+carcosfB) R —byry — cersinB2 (8f) Ol
Z7as
Bas = (wrtyr) an+(zr—yr)az+ = (azr+c (27 + %) cos B) & —byr § + (8f) 01
(37“'%) as 6(27—1—%) sin 82
By = (s —ys) a1 + (zg + ys) as + = (axg + czgcos B) X+ bys § + czgsin S Z (8f) S1
zZg as
Bso = —(zs+uys)a—(zg—ys)az— = — (aws 4+ c (28 — 3) cos B) X+ bys § — (8f) S1
1 1 . N
z5 — 3) as c(zs—3)sinBz
Bs; = —(rs—ys)a;—(zs+ys)as— = —(axg+czscosf)X—bysy —czgsinfBz (8f) ST
zZg as
Bs, = (8 + ys) a; + (vg — yg) az + = (axs +c(zs+ 3)cosB) X —bys§ + (8f) S1I
(z8+%) az C(Zg'f'%) sin 32
Bs; = (xg — y9) a1 + (w9 + yo) ag + = (axg + czgcos B) X+ byg ¥ + czosin 5 2 (8f) S II
Zg ag
B3y = —(z9+yo)ar—(z9—yo)az— = - (aas9+c(z'9— %) COSﬁ) X+byy — (8f) S1I
(20 — 3) a3 ¢ (20— L) sin 32
Bss = —(z9—yo)ar—(zg+yg) az— = —(axg+czgcosf)X—bygy — czgsinfBz (8f) S1I
Zg asg
Bss =  (wo+yo) a1+ (v9—yo) az+ = (azo +c (20 + ) cos B) & — by § + (8f) S1I
(Z9+%) as 6(29—1—%) sin 82
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